o|J

0|
olig
Nfo

ojn

@ (-2)?x(-2)?2=-16

@® 4x(-2)%=32

@ 9x3%2=3%

® (-2)2x(-8) =-32

® (-3)x (-3)® = -3¢






3. 34+ 3% 4 3% 7S] YR HE?

@ 3x+1 @ 33x @ 27X @ 3x+2 @ 3x+3



@ 20xy? ® 5yt



3ab

15
4b2




— |l

@ 32

® 3



7.

(4x")? = 64x"> A W, a - b O] G2

@® 2 @ 3 ® 4



8.

27 x 5% o] n 22 o] AALL W, n Of 27

@ 3 @ 4 ® 5 @ 6



2 =
x1:97,xQ:x—,X3:*,x4 *O]E}‘é]'uﬁ,xl'xz'xymgl

A2

O 2 @ 4 ® 6 @ 8 ® 10



10. o= 271 T A 237t &

Mo

AL 2F g A7

g

@ xx (—2x%)% = 4x°

© (2x)? x (3x)? = 12x*

®© (-6xy°) x ;ny = —4xPy!
® -3%x x4y = -36xy

2 3
©@ §x2yz X ixyz2 = x3y?73

@ 17 @ 274 @ 371 @ 4 7Y ® 571



11. Azl 2ol7} (2a0?)® & AAzFg ] Wol7t (4a%7)° 9w, o] 4
A7k 2] 7t o] Aol

D 8a2b* @ 8ab* ® 16a*b°

@ 20a°b* ® 24a*p®



12.

o= 542 W5tz a, b ol 5t 2a-3b o] g27 (T, n 2

2% 42+ 8 =925
(12 x (<143 = b

@ 11 @ -11

® -5




13. x=53g & o, 55 - 5* + 5% & x o] W3+ Ao pehl AL9

@ 6x @ 10x @ 21x @ 25x ® 31x



14. 3%x27 =813 & W=EsHE= x 9] 327

@ 3 @ 4 ® 6 @ 9 ® 12



2a+3b

15. 10¢=2, 10> =522 & o, 57 = A 2422

@® 100 @ 200 ® 300 @ 400 ® 500



